
 

www.oupchina.com.hk

ADVANCED 
EXERCISE
•	 Two types of practices: Exercise and Revision

	 –	 Exercise contains questions in one chapter

	 –	 �Revision contains questions in several chapters

•	 Advanced questions help students prepare for 
examinations

•	 Word files available on OUP web:

	

for HKDSE

Progressive 
Exam Resources

Sample

Pro
g

ressive Exam
 R

eso
u

rces A
d

van
ced

 Exercise
遞
進
應
試
資
源 

進
階
練
習

P
H
Y
SIC

S A
T

 W
O

R
K

 fo
r H

K
D

SE

香
港
中
學
文
憑 

生
活
與
物
理

3





 

 

 

Contents (sample) 

 
 
Exercise 2-1 (Book 2 Chapter 1) p.1 

 Solutions  p.3 
 

Exercise 3-4 (Book 3B Chapter 4) p.5 

 Solutions  p.7 
 

Revision 1B (Book 1 Chapters 1–5) p.9 

 Solutions  p.13 
 

Revision 4A (Book 4 Chapters 1−3) p.16 

 Solutions  p.21 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Full version will be provided when officially published.



Oxford University Press is a department of the University of Oxford.
It furthers the University’s objective of excellence in research, scholarship,

and education by publishing worldwide. Oxford is a registered trade mark of
Oxford University Press in the UK and in certain other countries

Published in Hong Kong by
Oxford University Press (China) Limited

39th Floor, One Kowloon, 1 Wang Yuen Street, Kowloon Bay,
Hong Kong

© Oxford University Press (China) Limited 2023
First Edition published in 2023

All rights reserved. No part of this publication may be reproduced, stored in a
retrieval system, or transmitted, in any form or by any means, without the prior
permission in writing of Oxford University Press (China) Limited, or as expressly

permitted by law, by licence, or under terms agreed with the appropriate
reprographics rights organization. Enquiries concerning reproduction outside

the scope of the above should be sent to the Rights Department, 
Oxford University Press (China) Limited, at the address above

You must not circulate this work in any other form
and you must impose this same condition on any acquirer

ISBN: 978-6-31-000981-0
1 3 5 7 9 10 8 6 4 2

Links to third party websites are provided by Oxford in good faith and  
for information only. Oxford disclaims any responsibility for the materials  

contained in any third party website referenced in this work.



Advanced exercise 

Physics at Work for HKDSE  Exercise 2-1 
© Oxford University Press 2023 

1

Class:   Name:  (   ) Date:   

    Marks:  / 15  

Exercise 2-1 (Book 2 Chapter 1) 
A  Multiple-choice questions (6 marks) 
(For Q1–2.) Carman skates along the path 

from point P to point R as shown. The path 

consists of two semicircles of the same radius 

of 20 m. 
 

1 Which of the following statements is/are correct? 

 (1) She travels a total distance of 126 m. 

 (2) The magnitude of her total displacement is 80 m. 

 (3) The direction of her instantaneous velocity at Q points towards the east. 

 A (1) only B (1) and (2) only 

 C (1) and (3) only D (2) and (3) only 

 

2 Carman skates at a constant speed throughout the whole process. Which of the following 

statements is/are correct? 

 (1) She is in uniform motion throughout the whole process. 

 (2) Her velocity at any instant is different from her average velocity over the whole process. 

 (3) Her speed at any instant is the same as her average speed over the whole process. 

 A (1) only B (2) only 

 C (3) only D (2) and (3) only 

 

3 Kenny measures the time taken for a car to travel 100 m with a stop-watch. Then he 

calculates the average speed of the car from the time measured and the result is 20.0 m s–1. 

The time measured carries an uncertainty of ±0.4 s. Which of the followings could possibly 

be the actual average speed of the car? Assume there is no error in the measured value of the 

distance travelled by the car. 

 A 16.9 m s–1 B 18.9 m s–1 

 C 23.3 m s–1 D None of the above  

Q 
P R 

N 
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B  Short questions (9 marks) 
4 A man walks along the sides of a square lawn. He walks 

with a constant speed v from A to B and a constant speed of 

2v from B to C. Find the magnitude of his average velocity 

from A to C. Express your answer in terms of v. (4 marks) 

 

 

    

    

    

    

 

5 A boat first sails towards the east and then uses 13 s to 

travel from A to B to reverse its direction. It sails at a 

constant speed of 72 km h–1 in the whole process.  

 Take the direction towards the east as positive and that 

towards the west as negative.  
 (a) Find the average acceleration of the boat from A to B. (3 marks) 

    

    

    

    

 (b) After the turn, the boat sails with negative acceleration. Jamie claims that the boat is 

slowing down. Is he correct? Explain your answer. (2 marks) 

    

    

    

 

 

 

- End - 
  

A 

B C 

D 

N 

A 

B 
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Solutions  
1 B 

 Distance travelled = 2
2

202π ×× = 126 m 

 ∴ (1) is correct. 
 Magnitude of total displacement = 20 × 4 = 80 m 
 ∴ (2) is correct. 
 The instantaneous velocity at Q points towards the south. 
 ∴ (3) is incorrect. 
 
2 D 
 Since Carman’s direction of motion changes as she skates, she is not in uniform motion. 
 ∴ (1) is incorrect. 
 Since Carman skates at a constant speed v, her average speed is also equal to v. 
 ∴ (3) is correct. 
 Since the magnitude total displacement < total distance travelled, 

magnitude of average velocity < average speed v 
 Since magnitude of instantaneous velocity = instantaneous speed = average speed = v, 
 magnitude of instantaneous velocity > the magnitude of average velocity. 
 ∴ (2) is correct. 
 
3 B 

 Since average speed =
 takentime

 travelleddistance total , the time measured by Kenny is 
20

100 = 5 s. The actual 

time taken ranges from 4.6 s to 5.4 s.  

 The possible average speed of the car ranges from 
5.4
100 = 18.5 m s–1 to 

4.6
100 = 21.7 m s–1. 

4 
Let d be the length of each side of the path.  

Magnitude of total displacement = 22 dd + = 2 d 1M 

Total time taken =
v
d +

v
d

2
 =

v
d

2
3  1M 

Magnitude of average velocity =

v
d
d

2
3
2  1M 

 =
3
22 v

 1A 
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5 

(a) 72 km h–1 =
3.6
72 m s–1 = 20 m s–1 1M 

 Average acceleration =
t

uv −   

  =
13

2020)( −−  1M 

  = –3.08 m s–2 1A 
(b) He is incorrect. 1A 
 As the acceleration and the velocity have the same sign, the boat is speeding 

up but not slowing down. 1A 
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Class:   Name:  (   ) Date:   

    Marks:  / 18  

Exercise 3-4 (Book 3B Chapter 4) 
A  Multiple-choice questions (6 marks) 
1 The figure below shows a wave travelling to the left. P, 

Q, R and S are four particles on the wave. The dotted 

line represents their equilibrium positions. 

 Which of the following statements is/are correct at the 

instant shown? 

 (1) Particles P and Q are moving at the same speed. 
 

 (2) The magnitude of the displacement of particle R measured from its equilibrium position 

is equal to the amplitude of the wave. 

 (3) Particle S is moving at its highest speed. 

 A (2) only B (3) only 

 C (1) and (2) only D (2) and (3) only 

 

2 Which of the following statements about a longitudinal wave is incorrect? 

 A It is caused by oscillations. 

 B Its waveforms consist of a series of rarefactions and compressions. 

 C It does not transfer particles of the medium. 

 D The particles on it vibrate in the direction perpendicular to its direction 

of propagation. 

 

3 A transverse wave propagates through a medium at 3 m s–1. A particle on the wave 

completes 3 cycles of vibration in 1 s. Which of the following statements must be correct? 

 (1) The frequency of the wave is 3 Hz. 

 (2) The amplitude of the wave is 1 m. 

 (3) The particle vibrates out of phase with another particle which is 3 m away.  

 A (1) only B (3) only 

 C (1) and (2) only D (1) and (3) only 

  

    

P 

Q 

R 

S 
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B  Short question (12 marks) 
4 A vibrator starts to vibrate at time t = 0 to produce a wave on a string. The wave propagates 

to the right by 3.5 cm in each complete cycle of vibration of the vibrator. The figure below 

shows the shape of the string at t = 1.75 s. X and Y are two particles on the string. 

 
 (a) Find the wave speed and the amplitude of the wave. (4 marks) 

    

    

    

    

 (b) How far does the wave propagate after 6 complete cycles of vibration of the vibrator? 

   (2 marks) 

    

    

 (c) Sketch the s–d graph of the wave from X to Y at t = 2.1 s. (3 marks) 

 

 (d) The string is replaced by a thread having a lighter mass of the same length. Sketch the 

wave that you would expect to see in the figure. Explain briefly. (3 marks) 

    

    

    

- End -  

 
vibrator X 

equilibrium 
positions 10 cm Y 
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Solutions 
1 D 
 Each particle keeps changing its speed as it vibrates. Different particles at different positions on a 

wave may vibrate at different speeds at the same instant. Only particles vibrating in phase or in 
antiphase have the same speed. 

 ∴ (1) is incorrect. 
 Amplitude of a wave is the height of a crest from the equilibrium position. 
 ∴ (2) is correct. 
 Particle at equilibrium position is moving at the highest speed. 
 ∴ (3) is correct. 
 
2 D 
 The particles on a longitudinal wave vibrate along the direction of travel of the wave. 
 
3 A 
 The frequency of particle vibration is the same as the frequency of wave motion. 
 ∴ (1) is correct. 
 By v = fλ, 

 λ =
f
v =

3
3 = 1 m 

 No information on the amplitude is given in the question. It is the wavelength but not the amplitude 
of the wave that equals to 1 m. 

 ∴ (2) is not necessarily correct. 
 A particle at 3 m away has a separation of 3λ from the particle. Therefore, the two particles are 

moving in phase. 
 ∴ (3) is incorrect. 
 
4 

(a) Period T =
2.5

1.75 = 0.7 s 1M 

 Wave speed v =   T  1M 

  = 0.035
0.7   

  = 0.05 m s–1 1A 

 Amplitude =
2

0.1 = 0.05 m 1A 
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(b) Propagation distance of the wave = 6λ   

  = 6 × 0.035 1M 
  = 0.21 m 1A 
(c) 

 

 

 (Correct axes and labels) 1A 
 (Correct amplitude and wavelength) 1A 
 (Correct positions of X and Y) 1A 
(d) 

 

 

 (Longer wavelength) 1A 
 The wave speed increases as the mass per unit length of the thread is smaller 

than that of the string. 
 
1A 

 By v = fλ, the wavelength increases because the wave speed increases and 
the frequency remains constant. 

 
1A 

 

distance / cm 

displacement / cm 

5 

0 

–5 
3.5 

X 

Y 

 
vibrator X 

equilibrium 
positions 10 cm Y 
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Class:   Name:  (   ) Date:   

    Marks:  / 28  

Revision 1B (Book 1 Chapters 1–5) 
Given: c (water) = 4200 J kg–1 °C–1, lf (ice) = 3.34 × 105 J kg–1, lv (water) = 2.26 × 106 J kg–1, 

 universal gas constant R = 8.31 J mol–1 kg–1 

A  Multiple-choice questions (6 marks) 
1 A few lumps of dry ice turn into gas in a closed box which does not exchange heat with the 

surroundings. Which of the following statements is/are correct? 

 (1) The dry ice releases latent heat as it changes from solid to gas. 

 (2) The dry ice molecules in gas state have more freedom of movement than in solid state. 

 (3) The net change in total amount of energy of the box is zero. 

 A (1) only B (1) and (2) only 

 C (2) and (3) only D (1), (2) and (3) 

 

2 On a cold winter day, Alice wears a down jacket to keep herself warm. This jacket  

 (1) reduces the amount of heat loss by conduction. 

 (2) is warmer than her body. 

 (3) does not emit radiation to the surroundings. 

 A (1) only B (1) and (2) only 

 C (1) and (3) only D (2) and (3) only 

 

3 Bella puts two identical beakers of water in two rooms at different temperatures. She finds 

that water evaporates at a higher rate in the warmer room. Which of the following 

statements can explain the result? 

 A The water only absorbs energy from the surroundings but does not lose any energy in 

the warmer room. 

 B Vapour molecules do not return to the liquid surface in the warmer room. 

 C More water molecules can escape as they have higher average kinetic energy in the 

warmer room. 

 D Water molecules can escape into the air directly from the centre of the liquid after 

absorbing enough energy in the warmer room 
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B  Short questions (22 marks) 
4 Nitrogen is usually used to lengthen the shelf life of food. Calvin buys a bag of potato chips. 

At temperature of 20 °C and pressure of 100 kPa, the volume of the bag is 640 cm3 and half 

the volume is occupied by nitrogen. Assume that the nitrogen inside the bag is an ideal gas. 

 Given: molar mass of nitrogen = 28.0 g mol–1 

 (a) Find the root-mean-square speed of the nitrogen molecules inside the bag. (2 marks) 

    

    

    

 (b) Calvin claims that all the nitrogen molecules in the bag move at the root-mean-square 

speed. Comment on his statement.   (2 marks) 

    

    

    

 (c) Calvin climbs a mountain with the bag of chips. When he reaches the top of the 

mountain, he finds that the temperature drops and the bag inflates. 

  (i) Consider the change of the bag. Is the atmospheric pressure on the top of the 

mountain higher or lower than that at the bottom? Explain briefly. (2 marks) 

     

     

     

  (ii) Suppose the temperature decreased by 20% and the volume of the nitrogen inside 

the bag increases by 20% on the top of the mountain. Find the atmospheric pressure 

there. (2 marks) 
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5 In the set-up below, a glass ball filled with air is connected to a U-shaped tube via a glass 

tube of negligible volume. The glass ball is immersed in a water bath. The U-shaped tube 

contains some mercury. 

 
 Before the Bunsen burner is turned on, the mercury levels at sides A and B are at the 

reference level and the water bath is at room temperature. The gas pressure inside the glass 

ball is p0. When the Bunsen burner is turned on to heat the water bath, extra mercury is 

added into side B of the U-shaped tube to maintain the mercury level at side A. 

 The gas pressure p inside the glass ball can be expressed as 

p = p0 + kh 

 where k is a constant, and h is the height of the mercury level measured from the reference 

level at side B.  

 (a) (i) What happens to the gas pressure inside the glass ball when the water bath is being 

heated? Explain your answer by using the kinetic theory of gases. (3 marks) 

     

     

     

     

     

  (ii) What does the term kh represent? (1 mark) 

     

  

××××××××××× 

glass ball filled 
with air 

glass tube 

water bath 

mercury 

reference level 
A 

h 

B 

U-shaped tube 
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 (b) The temperature of the water bath increases from 20 °C to 80 °C. Find the value of h 

when the water bath is at 80 °C. Given: p0 = 100 kPa, k = 133 kPa m–1. (3 marks) 

    

    

    

    

 

6 Sometimes milk foam is added into coffee to change its texture and favour. Matthew uses 

the steamer on a coffee machine to make milk foam by pumping steam at 100 °C into 600 g 

of milk until the temperature of the mixture reaches 65 °C. 

 Given: specific heat capacity of milk = 3930 J kg–1 °C–1 

 (a) The milk is initially at 4 °C. Estimate the mass of steam pumped into the milk. Assume 

that all the steam condenses and stays in the mixture. (2 marks) 

    

    

    

 (b) The steamer produces steam at 100 °C using water at 20 °C at a rate of 0.18 g s–1. 

Estimate the power of the steamer.  (2 marks) 

    

    

    

 (c) Matthew puts ice at 0 °C into a glass of hot coffee at 80 °C to make iced coffee. Some 

ice remains in the coffee when the coffee reaches 0 °C. The coffee is then left on the 

table for a long time. The room temperature is 23 °C. Sketch a graph to show how the 

temperature T of the coffee changes with time t in the whole process. (3 marks) 

 

 
- End -  
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Solutions  
1 C 
 Dry ice needs energy to change to liquid or gas. It absorbs latent heat when changing its state. 
 ∴ (1) is incorrect. 
 By the law of conservation of energy, the total amount of energy in a closed system does not change. 
 ∴ (3) is correct. 
2 A 
 The feather in a down jacket can trap air, which is a poor conductor of heat. Energy loss by 

conduction can be reduced. 
 ∴ (1) is correct. 
 The jacket does not produce heat. Its temperature will not be higher than the body temperature. 
 ∴ (2) is incorrect. 
 Every object emits radiation. 
 ∴ (3) is incorrect. 
3 C 
 All objects radiate energy in all directions.  
 ∴ A is incorrect. 
 Vapour molecules return to the water when they lose energy. What Bella observes is the net rate of 

evaporation. It is the difference between the rate of escape and the rate of return. 
 ∴ B is incorrect. 
 Evaporation only occurs at the surface of a liquid. 
 ∴ D is incorrect. 
 In the warmer room, the water has a higher temperature, so the water molecules have higher average 

kinetic energy. More molecules have enough energy to escape from the water surface. 
 ∴ C is correct. 
4 

(a) c  =
AmN

RT3
 1M 

  =
0280.0

)27320(31.83 +×× = 511 m s–1 1A 

(b) He is not correct. 
The r.m.s. speed is the typical speed of molecules at a certain temperature. 
The nitrogen molecules have a wide range of speeds. 

1A 
 
1A 

(c) (i) By  pV
T  = constant, 1A 

  When T decreases and V increases, p decreases. Therefore, the 
atmospheric pressure on the top of the mountain is lower. 1A 
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 (ii) By 
p1V1

T1
 = p2V2

T2  , 
 

  
(100)VT  = 

p2(ଵାଶ଴%)௏(ଵିଶ଴%)்  1M 

   p2 = 66.7 kPa 
  The atmospheric pressure is 66.7 kPa. 1A 

5 
(a) (i) The gas pressure inside the glass ball increases. 1A 
  According to the kinetic theory, the gas molecules move faster as 

temperature increases. 1A 
  As the volume of the glass ball is fixed, the molecules hit their walls 

more frequently and more violently. 1A 
  As a result, the pressure increases.  
 (ii) The pressure exerted on the gas by the extra mercury added. 1A 

(b) By 
p1
T1

 = 
p2
T2 , 

 

 p2 =
1

21

T
Tp

= 
(100) (80 + 273)

20 + 273
 1M 

  = 120.48 kPa 1A 
 By p = p0 + kh,  
 120.48 = 100 + (133)h  
 h = 0.154 m 1A 

6 
(a) Energy lost by the steam = energy gained by the milk  
 ms lv + ms cw ΔTw = mm cm ΔTm  
 ms × [2.26 × 106 + 4200 × (100 – 65)] = (0.6) × 3930 × (65 – 4) 1M 
 ms = 0.0598 kg 1A 
(b) P = (0.18 × 10–3) × [4200 × (100 – 20) + 2.26 × 106] 1M 
  = 467 W 1A 
(c) 

 

 

 (Decrease from 80 °C to 0 °C) 1A 
 (Remain at 0 °C for a period of time) 1A 
 (Finally reach 23 °C) 1A 

T / °C 

t 0 

80 

23 
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Class:   Name:  (   ) Date:   

    Marks:  / 33  

Revision 4A (Book 4 Chapters 1−4) 
A  Multiple-choice questions (8 marks) 
1 X and Y are two point charges separated by a distance r. X carries a charge of +q and Y 

carries a charge of –3q. Then Y is removed and replaced by another point charge Z, which 

carries a charge of –5q. The force acting on Y by X is FYX and the force acting on Z by X is 

FZX. Which of the following graph best shows how the size of FYX and FZX change with 2
1
r

? 

A 

 

B 

 

C 

 

D 

 

 

2 Three point charges L, M and N are at the circumference 

of a circle. L and M carry charges of –Q and –2Q 

respectively. Test charge P with charge +q is at the centre 

of the circle. If the net electrostatic force acting on P 

points towards L, which of the following is a possible 

combination of angle θ and the charge carried by N? 

  Angle θ Charge carried by N 
 A  30° +2Q 

 B  30° –2Q 

 C  60° +4Q 

 D  60° –4Q 

 

F 

1𝑟ଶ 
FZX 

FYX 

0 

F 

1𝑟ଶ 
FZX 

FYX 

0 

F 

1𝑟ଶ 
FYX 

FZX 

0 

F 

1𝑟ଶ 
FYX 

FZX 

0 

L 

M 

N 

P 
θ 
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3 The network below consists of four 5-Ω resistors. 

 
 Find the equivalent resistance across X and Y. 

 A 1.25 Ω B 7.5 Ω 

 C 6.67 Ω D 20 Ω 

 

4 A cylindrical conductor X has a radius of 2r and a resistivity of 3ρ. Its resistance is R. 

Another cylindrical conductor Y has the same length as conductor X but has a radius of r and 

a resistivity of ρ. What is the resistance of conductor Y? 

 A R
12
1  B R

6
1  

 C R
3
2  D R

3
4  

 

B  Short questions (25 marks) 
5 A charged particle P remains stationary at the middle between two horizontal metal plates as 

shown. The plates are separated by 10 cm and are oppositely charged. 

 
 (a) Is P positively charged or negatively charged? Explain your answer. (2 marks) 

    

    

    

 (b) Given that the mass of P is 0.8 g and the quantity of charge in P is 0.225 μC, find the 

voltage across the two plates.   (2 marks) 

    

    

    

5 Ω X Y 5 Ω 5 Ω 5 Ω 

P 10 cm 

– 

+ 
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 (c) P is now removed. Another particle R has the same mass as P but carries opposite 

charge. R is projected horizontally to the right to enter the electric field.  

   
  (i) Sketch the path of R in the figure. (1 mark) 

  (ii) Suppose R does not hit any object when moving between the plates. Does the net 

force acting on R change? (1 mark) 

     

 
6 Catherine wants to measure the internal resistance r of a battery with e.m.f. ε. She sets up the 

circuit shown in Figure 6.1. 

     
 She varies the resistance of the rheostat and records the corresponding readings I and V of 

the ammeter and voltmeter. She then plots a graph of V against I as shown in Figure 6.2. 

Suppose the ammeter and voltmeter are ideal. 

 (a) If the rheostat is removed and the voltmeter is connected in series with the battery, what 

is the physical meaning of the voltmeter reading? (1 mark) 

    

 (b) Express V in terms of ε, r and I.   (1 mark) 

    

  

– 

+ 

R 

A 

V 

Fig 6.1 Fig 6.2 

V / V 

x x 
x 

x 
x x 

3 

I / A 0 12.5 
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 (c) With reference to your answer in (b) and Figure 6.2, estimate the e.m.f. ε and the 

internal resistance r of the battery.   (3 marks)  

    

    

    

    

 (d) If the ammeter is not ideal, will the estimated values in (c) be higher or lower than the 

actual values?   (2 marks) 

    

    

    

 

7 Tom designs a circuit to control the brightness of a filament bulb as shown. Uniform 

resistance wire AB is 30 cm long and has a resistance of 1800 Ω. It is connected to the 

220-V mains and the bulb is connected to the resistance wire via a slider S. The brightness 

of the bulb can be changed by moving S along the resistance wire. The resistance of the bulb 

is 1000 Ω. 

 
 (a) What is the peak value of the mains voltage? (1 mark) 

    

    

 (b) How does the electric potential at points C and D change with time? (2 marks) 

    

    

    

  

220-V mains 

S 

resistance wire 

A B 

C D 
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 (c) Find the average power consumed by the resistance wire and the bulb when S is 20 cm 

from A.   (5 marks) 

    

    

    

    

    

 (d) Ben suggests replacing the resistance wire with another one of a smaller resistance. Do 

you agree with him? Explain briefly.  (2 marks) 

    

    

    

 (e) If the whole resistance wire is shorted, will the bulb light up? Will the fuse blow? 

   (2 marks) 

    

    

    

 
 
 
 
 
 
 
 
 
 
 
 
 
 

- End - 
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Solutions 
1 D 

 As the electrostatic force F between two charges is given by 2
0

21 1
πε4 r
QQ , F is directly proportional to 

2
1
r

. The graph of F against 2
1
r

 should be a straight line passing through the origin with positive 

slope. When Y is replaced by Z, the slope of the graph, given by 
0

21

πε4
QQ , will become larger. 

Therefore, the graph of FZX has a larger slope than that of FYX. 
 
2 D 
 Since the net electrostatic force points towards L, the forces exerted on P by M and N balance with 

each other along the horizontal direction. This means the force by N is also attractive and N carries a 
negative charge.  

 Along the horizontal direction,  

 FN cos θ = FM    
1

4πε0

QN q
r2  cos θ = 1

4πε0

QM q
r2     QN cos θ = 2Q    QN > 2Q 

 If N carries a charge of –4Q, 4Q cos θ = 2Q    θ = 60° 
 
3 C 
 Rearrange the network as follow by considering the resistors connected to junctions A and B. 

 

 Equivalent resistance = 5 +
1

5
1

5
1

5
1 −







 ++ = 6.67 Ω 

 
4 D 

 Resistance of the copper conductor R =3ρ 
l
A
 = 3ρ 

l
(ଶ௥)మ = 

3 lସ௥మ 

 Resistance of the metal conductor =ρ 
l

௥మ = R
3
4  

 
5  

(a) P is positively charged. 1A 
 so that the electrostatic force acting on it by the plates points upwards to 

balance the weight of P. 
 
1A 

R1 X Y R3 R4 R2 
   R1 X Y 

R2 

R3 

R4 A 
B A B 



Advanced exercise 

Physics at Work for HKDSE  Revision 4A 
© Oxford University Press 2023 

21 

(b) Since mg = Eq = 
d

qV ,  

 V = q
mgd

= 6

3

10225.0
10.081.9108.0

−

−

×
×××  1M 

 = 3490 V 1A 
(c) (i)  

 

1A 

 (ii) No 1A 
 
6 

(a) E.m.f. of the battery 1A 
(b) V = ε – Ir 1A 

(c) Slope of V–I graph = –r  

  
05.12

30
−

− = −r 1M 

  r = 0.24 Ω 1A 

 When I = 0, V = ε and so ε is 3 V. 1A 

(d) The estimated value of the internal resistance is higher than the actual value, 
 while that of the e.m.f. is the same as the actual value. 

1A 
1A 

 
7 

(a) Peak value = √2 × 220 = 311 V 1A 
(b) The electric potential at C varies from 311 V to –311 V. 
 The electric potential at D remains 0 V. 

1A 
1A 

(c) Equivalent resistance of the circuit Req  
 = resistance of SB + equivalent resistance of AS and bulb 

 

11
110 201800 1800 (1000)

30 30

600 545.45
1145.45 

−−
−

  = × + × +     
= +
= Ω  1M 

 R.m.s. voltage across bulb  

 

545.45 220
600 545.45
104.76 V

= ×
+

=  1M 

  

R 

– 

+ 
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 Average power consumed by bulb  

 = 
Vrms

2

R
  

 
2104.76

1000
11.0 W

=

=
 

1A 

 Average power consumed by the circuit  

 = 
Vrms

2

R
  

 
2220

1145.45
42.3 W

=

=
 

1M 

 Average power consumed by resistance wire  
 = 42.3 – 11.0 
 = 31.3 W 1A 

(d) No, 
 the energy wasted by the wire will increase. 

1A 
1A 

(e) The fuse will blow 
 and the bulb will not light up. 

1A 
1A 

 




	空白頁面
	空白頁面


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


